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Instructions for Candidates :

rfft @ for fader:

Attempt any four questions.
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All questions carry equal marks.
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(i) What are major microeconomic issues?

(i) Using a circular flow diagram of the economy, show that the sum of private investment
and government expenditure equals the sum of savings and taxes. (8.75+10)
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Q.2 (i) What is meant by underground economy? What problems do an underground economy pose in
the calculation of GDP?

(i) Explain the income method to measuring gross domestic product (GDP) .What adjustments are
required to calculate gross national product (GNP) from gross domestic product (GDP)?
(9+9.75)
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(i) What are the determinants of aggregate consumption function?

(if) What happens if a household concerns about future and wants to save more today to be prepared
for hard times tomorrow? (8.75+10)
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Q.4 (i) Suppose an economy is described by the following equations;-

C=14+0.6 Yd

I= R 20 Crores,

G =1 10 Crores,

T =% 5 Crores

X = X 15 Crores

Where C is consumption, | is investment , G is government expenditure ,T is tax ,X is exports.
M is imports. Answer the following:-

(i) Equilibrium level of income.
(i) Calculate the net exports.
(iii) Value of open economy multiplier.

(i) Explain income determination in three-sector economy using aggregate expenditures (AE).
approach.(Diagram is required) (9+9.75)
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Q.5 (i) Define the demand for money. What are the motives for holding money?
(if) Write a short note on "Liquidity Trap." (9.75+9)
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Q.6 (i) Why does an increase in money supply by Central Bank lead to a decrease in the interest rate?
(i) Explain the process of credit creation by commercial banks in a multiple banking system.
(9+9.75)
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